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1. T 9NN F wEatedr gefEd e e-
(a) W@ TrEAw &t e fafeer o
(b) TrE FrEAw &t g fafat o
(c) TSR Hifq e o
(d) sm fifa femo o
2. 'Ge 9NN H A’ T A @ few Hifa w1 fomiva 2
(a) T it
(b) TSR Hifq
(c) Hifgem ifa
(d) == ifa
3. frefafed § 9 @R andE o a1 difgs a0
T WY e 7?2
(a) %
(b) TR T S
(c) WAl 3R Hell =
(d) T3 STRfa ST
4. HEET w9 G g AT G e 2-
(a) T AR a1 =01 T
(b) Tt sl =1 FrE=or e
(c) IR AR &1 =01 T
(d) SgHed UTg SR 1 307
5. ToeAfefag & 9§ %9 o TF dAifgss ifd o1 529 Tl 22
(a) T feera
(b) sTfefeR Tenfae
(c) 9 ud ufmmfadl &1 qifes faawon
(d) foceh fafma X feeran
6. & 9N fisd §e Fh fwd orum ® gfg i soon
A €, T TEHT e T2
(a) AU ST & qH SUR 34 & fog %7 g1 et
(b) 9N T S & I SUR <4 @ foig e g1 Enft
(c) H% THR % UG YR A & ¢ %7 g1 M
(d) U= Sl = U SYUR =4 & forg STiemsha S
ARl
7. Afg ARELE. yERa difsw Aifd w1 e W Hw
fofa s 2, i o fefateg o 9 o @1 wm?
1. e qYerdl U ol SEERY SU ST e el
2. wmra Tl gae T & e
3. o < W TET AUl W L B A T

= fT T 2 T TEM F FE IW g
(a) ®ae 1 3N 2 (b) BT 2
(c) Fad 1 3R 3 @1, 2 3R 3

1.

4.

6.

Open market proceedings are included in:
(a) Qualitative methods of credit control
Quantitative methods of credit control

(c) Controlling the fiscal policy
(d) Controlling the labour policy
"Open Market Operations" are the feature of which of the
following policy ?
(a) Revenue Policy
(b) Fiscal Policy

4J Monetary Policy
(d) Labour Policy
Which of the following is NOT an instrument of the
monetary policy of the Reserve Bank of India?
(a) Bank Rate
(b) Statutory Liquidity Ratio

7 Goods and Service Tax

(d) Cash Reserve Ratio
In general, the main goal of the monetary policy is-

\_}ﬁ')’ Control on money supply
(b) Control on private banks
(c) Control on share market
(d) Controlling the precious metals market
Which one of the following is not an objective of Monetary
Policy ?
(a) Price Stability
(b) Economic Stability
(c) Equitable distribution of Income and Assets

w4d7 Foreign Exchange Rate Stability
When the Reserve Bank of India annonces an increase of
the Cash Reserve Ratio, what does it mean?

M) The commercial banks will have less money to lend
(b) The Reserve Bank of India will have less money to lend
(c) The Union Government will have less money to lend
(d) The commercial banks will have more money to lend

Ifthe RBI decides to adopt an expansionist monetary policy,
which of the following would is not do?

1. Cutand optimize the Statutory Liquidity Ratio/
2. Increase the Marginal Standing Facility Raté}\
3. Cut the Bank Rate and Repo Rateq_~
Select the correct answer using the code given below:
(a) 1and2only
\_(bﬂ/ 2 only
(¢) 1and3 only
(d 1,2and3
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8. Tr=fafad suml W faar X, = AR ateTE. steferasen
o qrrewifa w1 FeEba we & o g@m § @)
1. 9% WH 9fg
2. T AR oUW H gfs
3. gifgene aetar sTud § gfg
4. WA gfagfaa 1 %
= T ™ F2 H 9 Wel SW H 99T Hifu)
&he:
(a) ol 1 3R 2 (b) Fae 1, 2 3R 3
(c) ol 2,3 3R 4  (d) Poed 1, 3 3T 4
9. freAfeia & o #H-91 9Ra § =FAS SUR e &
e Tl @2
(a) SUHRRT 3R &1 freme
(b) 3R Ut Fam=
(c) S (wifs) srdemd
(d) afEdt SrTa STReTUT STuTa
10. 9Ra ® Hifgew Hfq w1 swwo (sRgH=) Freftea & @
HH-E T 7?2
(a) W & (b) TH. Ta. 3R
(c) ©I. 3 IR (d) X afadH
11. 9RdT erefegazen & =<y H, fr=fafaa w faur wifsma:

. dF - W

2. Tl 9K FHRAE

3. % ®|O

4, AH T

STEw ¥ ¥ ®H - /A Hifsw AT w1/ R TR 2
(a) Faa 1 (b) 1 3R 2

(c) 2,3 3R 4 (1,3 R 4

12. o Tomft gfaen s (Marginal standing facility rate)
gen et #im (Net Demand and time liabilities) 3R
Yty 3ol ugee ek GEER H S ed €1 S

T fRe® gy § R S 22
(a) S w (b) TER JeafRT
(©) IS FR

(d) HfT et =t gfd T =iw
13. S R st ok Gifafier Tehdt o (Rl fafwtefe
M) F 50 AR F (AW W) FH B A €, Al
Frfafea § @ 1 eH % TeEE el 27
(a) 9Rd =1 GDP fas@  yaerar 4 s
(b) Torelt Heemm frewes TR <@ # @R sifum deft
el

(c) 3Tgfaa afoieasr S 31T SYR 39 1 L & o7&
Hhd ®

(d) =E@ St wawen i T (fafFafefz) § yaom @
F 37 FHa 2

8. Consider the following measure that R.B.I. uses to control
inflation in the economy.

1. Increase Bank Rate/”
2. Increase Cash Reserve Ratio®”
3. Increase statutory liquidity Ratio
4. Purchase of government securities A
Select the correct answer from the codes given below:
Codes:
(@) Only1and2
Only 1,2 and 3
(c) Only2,3and4
(d) Onlyl1,3and 4
9. Which one of the following is not an instrument of selective
credit control in India? -
(a) Regulation of consumer credite””
(b) Rationing of Credit «~
(c) Margin Requirement
Variable cost reserve ratioy&,
10. Which of the following is not the instruement of monetary
policy in India?
(a) Repo Rate Ve
(b) SLR”
(c) CRR
) Tax change 7(
11. With reference to Indian economy, consider the following :
1. Bankrate
2. Open market operations
3. Public debt #*
4. Public revenue }(

Which of the above is/are component/ components of
Monetary Policy ?

(a) 1only

1 and 2
(¢) 2,3and 4
(d 1,3and4

12. The terms 'Marginal Standing Facility Rate' and Net Demand
and Time Liabilities', sometimes appearing in news, are used
in relation to

& Banking operations
(b) Communication networking
(c) Military strategies
(d) Supply and demand of agricultural products
13. When the Reserve Rank of India reduces the Statutory
Liquidity Ratio by 50 basis points, which of the following
is likely to happen?
(a) India's GDP growth rate increases drastically
(b) Foreign Institutional Investors may bring more capital
into our country
Mheduled Commercial Banks may cut their lending
rates
(d) It may drastically reduce the liquidity to the banking
system
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14. 9RdE redoreen & ded o Frefafaa & 9 wH- @A
wifafuss sTRfera smavaskareti (statutory reserve require-
ments) 1 / & ST /L2
1. &= o 1, st g FfHa a1 S wwe Al st

Tyl W A R w S USH w
2. S H ST St Ui w1 g 9 e @
3. OIS bl ! FAAEH o HAH § b
4. St feA-ufafes w1 erawaae w W@ R & fou
YA IS TR (e HY T I AT A
= fau MU FH2 w1 wE W L W A
(a) Hae 1 (b) Fae 1 3R 2
(c) o 2 3N 3 @, 2,3 4

15. foreht erefomaen o af€ &I *1 <X I ¥EET W@ T, A
T
(a) orefcqaEen H UL IF HRIE
(b) THR & F-TUE I TGN
(c) SAdeTaEen ¥ a9 =49 i s sy
(d) sreicgazen ¥ %o d9d Hi S

16. Sl HI U kg I R FHA IRGEE H HA TH
fafeaa s & e €, 5§ Fed B
(a) Wifafess o A (b) HifaTdes el ua
(c) ®ga S foe (d) Fa w®a fod

17. af% wRdg fiod S% % gR FF: FIT A (C.RR) H
HH I W ? Al $Hh g go T 99 -

(@) 5 (b) e
(c) HE guE -T&l
(d) STw ¥ ° HE T

18. &% ¥ arfayE 2
(a) Sl ERI SHTEHTISA i & WM el S i <L
(b) =i g U1 & oell § ol SH ATl S i &Y
(c) 3TTHT FON W AT i K
(d) ST q% g 3= 1w 2T T RO W faw SH
It = H R

19. S A gfg GHrEA: T8 9 1 Hehd @ 6
(a) =S ! AR & R F g 2
(b) ¥ S TS VIS Sehi I Hst Tl < W@
(c) HE o TEA G Al BT ST X @I 7
(d) ®a o wEM g1 Al F1 FATEROT @IS

20. G § Hifgw Aifq & ged |, = § 9 B0 wA weH
wE 27
. S W R argd € T St yomedt o % qen o

@ yarE g
2. IAHM A ¥ gEEEifa & afEa v @ fae em
ot o 3 Wi R aun e W W w2
= fRT 7T 2 F TEN FT HE IW FT AT HIC-
(a) Faa 1
(b) 2 HaaA
() (1) 3R (2) At
(d) S9gF & ¥ FE Tl

14. In the context of Indian economy; which of the following
is/are the purpose/purposes of 'Statutory Reserve
Requirements'?

1. To enable the Central Bank to y the amount of
advances the banks can create v
To make the people's deposits with banks safe and liquid
3. To prevent the commercial banks from making excessive
profits ~k<
4. To force the banks to have sufficient vault cash to meet
their day-to-day requirements &
Select the correct answer using the code given below.
(a) Tonly
1 and 2 only
(c) 2and 3 only
(d 1,2,3and 4
15. If the interest rate is decreased in an economy, it will-
(a) Decrease the consumption expenditure in the economy
(b) Increase the tax collection of the Government
A Increase the investment expenditure in economy
(d) Increase the total savings in the economy

16. The banks are required to maintain a certain ratio between
their cash in hand and total assets. This is called

(a) SBR (Statutory Bank Ratio)
apr SLR (Statutory Liquid Ratio)
(c) CBR (Central Bank Reserve)
(d) CLR (Central Liquid Reserve)
17. If the cash fund ratio is reduced by the Reserve Bank of
India, its impact on credit creation will be-
& Increase
(b) Decrease
(c) No effect
(d) None of the above
18. Bank Rate means:
(a) Interest rate given by banks to depositors
(b) Bank rate charged by bank from borrowers
(c) Bank rate on inter bank lending

Qédf Interest rate charged by central bank on the loans given
to other banks.
19. An increase in the Bank Rate generally indicates that the
(a) Market rate of interest is likely to fall
(b)  Central Bank is no longer making loans to commercial banks
(c) Central Bank is following an easy money policy
Central Bank is following a tight money policy
20. With reference to the Monetary Policy of India, which
statement (s) is / are correct?
1. The higher Repo rate implies that lesser credit will flow
into banking system. e
2. R.B.I has relied on Repo rate and Revers Repo rate to
control inflation in recent timev
Choose the correct answer using codes given below-
(a) (1) Only (b) (2) Only
JAC) Both (1) and (2)
(d) None of the above
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21. 31T ¥ qRAr o o, f59 s 50 W i S
F YR 31 2, 3 FeT Il o

(a) = (b) S R
(c) Soe [ R (d) @ R
22. G4 faemed &1 g4 e S e-

(a) Tafma aR o T93 1 9 faskarett & <o & w4
&

(b) Tafma am o T3 =t fawarct & a9 #t 9QH &
feg

(c) fafma aR # T3 &1 99 #9 W & fag

(d) SHI® FE T

T8 R 9 W d% IRdg e 9% # IUR ] §, S
STt 8-

23.

(a) S (b) W |
(c) fad W w (d) =S ]
24. Frefafed werl W fa=ar Fifse-

. W% e AN ¢, W WA R sk 10 Treehi
Y ST% STeTEHies SR W ol

2. W R AN R, S G e S 319 Ureehi
Y ST Sefehiern SUR W oal € |

I FA A W HE-T1 /W e 82?

(a) ®aa 1 (b) Faa 2

(c) = 1 3R 2(d) Fd 1 iR E 2

qRd # Sehl g1 WefHe &3 (Priority Sector) SRUEH ¥

g fergeRt o1 &4 W 2?2

(a) HfW (b) =7 T B STH

(c) Fofet =t (d) T4 Fet

A R i e & e o, et § @ wiH

ot T, FEYem Hfed gF drell seA oft?

(a) ST FHUTE HT LR

(b) WG W2 S 1 TSR] Tl

(c) T Treivm o w1 st

(d) TEEl YEaHd AISHI AN HET

frefafaa s | 9 fFas/faes afomreeey sdfemewen

o 7z ogfd # gfs Bhft?

1. #= §% g0 A @ Wk sfasgfaal w1 %A

2. T gR AT dehl H ST i TS HE

3. TN §N Hd 5% 9 faan @

4. F=E §F g0 A H WER gfagfiE w1 fawa

frefafed 2l # oTuR | W& W M ¢

(a) Had | (b) Faet 2 3N 4

(c) 1 3R 3 (d) 2,3 3R 4

ARd ¥ o §ed gashis (WPI) & onise ffafea o @

HIA-T LM / HECE SR T €2

(a) W fiod §

(b) o TS SR HATR

ORENEEISE]

(d) SUHRRT TS, TR TE HEse oo g9

25.

26.

27.

28.

21. The interest rate at which the Reserve Bank of India lends
to Commercial banks in the short-term to maintain liquidity
is known as
(a) Interestrate
(b) Bankrate
(c) Reverse repo rate

J4T  Repo rate

22. The repurchase option is used.

(a) To ease the pressure of heavy selling of the rupee in the
exchange market
(b) To increase the pressure of heavy selling of the rupee in
the exchange market
(c) To reduce the value of rupee in the exchange market
v(‘d( None of the above
23. The rate at which banks lend to the Reserve Bank of India.
(a) Bank Rate
(b) Repo Rate
@ Reverse repo rate
(d) Interest rate

24. Consider the following statements:

1. Bank rate is the rate of interest which RBI charges its
clients on their short-term borrowing A

2. Repo rate is the rate of interest which RBI Charges its
clients on their long term borrowing. e

Which of the statements given above is/are incorrect?

(a) 1only

(b) 2only

)  Both 1 and 2
(d) Neither 1 nor 2
25. Priority Sector Lending by banks in India constitutes the

lending to
(a) Agriculture
(b) Micro and small enterprises
(c) Weaker sections
47 All of the above
26. In the context of independent India's Economy, which
of the following was the earliest event to take place?
(a) Nationalisation of Insurance companies: /
(b) _Nationalization of State Bank of India
Enactment of Banking Regulation Act '} (‘D
(d) Introduction of First Five-Year Plan ¢ }S 1
27. Which of the following measures would result in an increase
in the money supply in the economy?
1. Purchase of govt securities from the public by the cen-

tral bankee””"

2. Deposit of currency in commercial banks by the public A

3. Borrowing by the govt. from the central bank
4. Sale of govt. secs. To the public by the central bank
Select the correct answer using the codes given below:
(a) Tonly (b) 2 and 4 only
1 and 3 (d 2,3and4
28. Which of the following Institution/Office bring out the
Wholesale Price Index (WPI) data in India ?
(a) The Reserve Bank of India
The Ministery of Commerce and Industry
(¢) The Ministery of Finance
(d) The Ministry of Consumer Affairs, Food and Public
Distribution

¢b
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29.

30.

31.

32.

33.

34.

3s.

36.

37.

frfafed & @ feg ofufa 3 qeewifa & @m0 & fou
T MR, (9 oI gudih) & M W L.
(YA qord gawih) 1 I 2

(a) 3fsfa w2 wfufa (b) ez wfafa

(c) et wifa (d) TR wiufa

IRd TR 7 IfEa uRdE o wid gaFis & fa
R T8 2004-05 ¥ SRR fFg o &I =A@ 72

(a) 2010-11 (b) 2011-12

(c) 2012-13 (d) 2013-14

(e) 3UYT H W HE &/ SWE H U TH 9 AU+
ofieh e o F e B W faER #if

1. s awqy
2. ¥, wifth, TN AR SEw
3. fafmfon saE

STE TRl & i FIHd gEHE H INHTT H AR
TEE % YR W TENE! %A § Harefa Hife

(@ 1,2,3 ()3, 1,2

() 1,3,2 (d) 3,2, 1

o g gawie (WPI) &t om 5 fafaffa e
e ( yfaea ®) e 7 2

(a) 62.46% (b) 63.43%

(c) 64.23% (d) 60.23%

offF Jod Gashid & W99 ° = ¥ @ 59wk & w6
ge@ arfae 9N (Weightage) & s @ 2

(a) T 9 &

(b) @ T 8w

(c) TeM, iR, oée Td s

(d) faffda 3R

frefafed & @ ®H-91 goshich IR ¥ qREHIT ST < I
o % foru et foid s g 3@ W | S S 2
(a) NASDAQ g==i® (b) BSE ¥==is

(c) SUHRRT qod ki (d) oiF qoF Gohih

IRd | WM FHU=E & T 9o % i s enen
-

(a) T 3 (b) SUHIHT Hed FoFHih

(c) Sirem frafe &R

(d) ¥fa =afw

Tt YHIEHIG 2kl | Gt Sxqeti & Hed ¥ ufedd i
efdq w21 eidw gRERIfa 1 2O fRE STER W
fepan S 22

(a) o o HIH

(b) STEfTR Sf IUAHT G Gahich

(c) WrHfesh STHIHN Hod Yohich

(d) I8 IUARH oI YIAFIF

qRa o e ufte Al gEemifa e et ©

(a) IUHARH @& ed gasis (CFPI) W |

(b) IUHRH Ted Gaskid (AT gfw) (CPI-RL) wI
(c) % qea gashis (WPI) W

(d) YRR god gEehih (W) (CPI-C) W

29. Which one of the following Committee has chosen
CPI(Consumer Price Index) as inflation measurement rather
than WPI (Whole sale Price Index) in India?

2) Urijit Patel Committee
(b) Kelkar Committee
(c) Cheliaya Committee
(d) Rangrajan Committee

30. Which year has the Government of India changed from the
base year 2004-05 to the All India Wholesale Price Index?
(a) 2010-11 1 2011-12
() 2012-13 (d) 2013-14
(e) None of the above/ More than one of the above

31. Consider the following items of wholesale price index:

1. Primary articles ¢ J

2. Fuel, power, lights and lubricants [ 3 ' Ly' '

3. Manufacturing products ét‘ .L‘/.

Arrange the above items in descending order in terms of
their weightage in calculating wholesale price index:

(a) 1,2,3 M 3,12

() 13,2 (d 3,2,1

32. What s the weightage (in percent) of manufactured products
in calculation of Wholesale Price Index (WPI)?
(a) 62.46% (b) 63.43%

oy 64.23% (d) 60.23%

33. Which one of the following regions is given the highest
weight in the measurement of wholesale price index?
(a) Food sector
(b) Non-food sector
(c) Fuel, power, light and lubricants

@~ Manufacturing products

34. Which one of the following indices is now used by the
Reserve Bank of India to measure the rate of inflation in
India ?

(@) NASDAQ Index
(b) BSE Index

1@~ Consumer Price Index
(d) Wholesale Price Index

35. InlIndia, Deamess Allowances of employees is provided on
the basis of
(a) National Income

AP Consumer Price Index
(¢) Living Standard
(d) Per Capita Income

36. Headline inflation refers to the change in value of all goods
on the basket. On which basis is the headline inflation
measured ?

(a) Wholesale Price Index

(b) Consumer Price index for industrial worker
) Combined consumer Price index

(d) Urban consumer Price index

37. In India, headline inflation is based on
(a) Consumer Food Price Index (CFPI)

(b) Consumer Price Index Rural Labourers (CPI- - RL)
(c) Wholesale Price Index (WPI)
Jﬁl-) Consumer Price Index - Combined (CPI-C)
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38. TUNIH HIHd Gohish T UG o1 TR 1 < 9@l €,
(a) "% T HA H G W 2
(b) T I =T arfer w2 < S R
(c) TR XTSI el fean S 2
(d) ¥ © 5@ & W R
39. siiEfieh Affewl & Sudil God Guwih H SER a9
2001 § 2016 foa =8 o ufafda feen mn?
(a) 2019 (b) 2020
(c) 2018 (d) 2010
40. 9Rd H SARF Fod gaSiw (PPI) (2014) 9K FE &
fere framufsgfa fauifa @ o #eEka 1 e o 9
I o ?
(a) Wi =
(b) Elodto Heawma
(c) afasia o=
(d) o TIo MR
41. = < e fRu e ¥, e © Tk Wl SIfameE (A) @
T H FHAO (R) Tl T2
SfTReM (A) : TR i 3Ta%S GRehia 9 fued & fo
e THA T GHAT HET U=l
FROT (R) : 9% Teufq ereiegeeen o omyfd sTg= qen s1a™
foaeor S9 1wl % FRoT Bl B A fRw T we 9 w@
IR HT TIT HIfC|
&he:
(a) (A) 3R (R) BHi ¥ B & (R), (A) &1 Gl =ame
Tl B
(b) (A) R (R) & &= €, fFg (R) (A) + W
SR e A B
©) (A) & 2, fg (R) e &
(d) (A) Te@ 2, fhg (R) 93 ©
42. R erefoqewen & Wy #, H-URa gEewifa a1 saH
afs frefefan fo Fmon @ e 2 2
1. TommeRt <ifaat
2. TUSRINE Hicame
3. TSR okl Hogd (SRISH- TS oeid)
4. 3I=9 ®A Ulh
5. 9 S &
= fRw T He w1 yEE = FE W g
(a) o 1,2 3R 4
(b) o 3, 4 AR S
(c) o 1, 2,3 3R 5
d 1,2,3,4 35
43. Trefefea o @ F-1 oo goa o Heifis qResiianRe
B Wehell ® ?
(a) ES 0T T gt
(b) 992 ¥R & faditam & fau sFar @ SUR o
(c) = = & Toreiaa & foru S @ SR o
(d) oo WR & foxiem & foaw 7€ q51 1 go w e

38. Inflation based on consumer price index rises if-
\% Bank rate is decreased «”
(b) Reverse repo rate is increased
(c) Statutory liquidity ratio increased
(d) Repo rate is increased

39. In which year was the base of the consumer price index of
industrial workers changed from the year 2001 to 2016

(a) 2019 ANT 2020
(c) 2018 (d) 2010

40. Who among the following was the Chairman of the Working
Group for determining the methodology for construction of
Producer Price Index (PPI) in India (2014) ?

(a) Saumitra Chaudhury
(b) D.V. Subbarao
(c) Abhijit Sen

% B.N. Goldar

41. Two statements are given below, is labelled as Assertion
(A) and other as Reason (R):

Assertion (A): The government faces a tough time tackling
the bottleneck inflation.

Reason (R): The situation is due to deficiencies existing in
the economy such as supply bottleneck and inefficient
distribution.

Select the correct answer from the codes given below.
Codes:

yﬁoth (A) and (R) are true and (R) is correct explanation
of (A)

(b) Both (A) and (R) are true, but (R) is not the correct
explanation of (A)

(¢) (A)is true, but (R) is false
(d) (A) is false, but (R) is true

42. With reference to Indian economy, demand-pull inflation
can be caused/increased by which of the following?

1. Expansionary policies /"

2. Fiscal stimuluse/”

3. Inflation-indexing wages | /" €

4.  Higher purchasing power o,/

5. Rising interest rates

Select the correct answer using the code given below.
\/@f)' 1, 2 and 4 only

(b) 3,4 and>5 only

(¢) 1,2,3and5 only

(d 1,2,3,4and5

43. Which one of the following is likely to be the most
inflationary in its effects?

(a) Repayment of public debt

(b) Borrowing from the public to finance a budget deficit

(c) Borrowing from the banks to finance a budget deficit
\Mreation of new money to finance a budget deficit
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44. Tfafaa o 9 SF-91 woF W&l T e
(a) HEEHITG | @ & oo °§ srEHEa Ya1 e @
(b) GEEHIT T U &R W 3HSA Y9G I Tohell 7
(c) TETEHIfa i ool Higew suEl o fEb@ fw =
Tl ©
(d) 3TTEHifa, qEreifa 1 qor § eI erfiere 2|
45. SR qEEhita & weol o frefeiea § @ w8 wed sE-ad
?/E?
I. R GEEHI dehiiorns sieshl o off garfad eid €
T HRERIG | ¥ T Td $89 & Heehi i e T
HR GIEHIT T AT H Gehd &
= fRT T 2 § § WS IW F I HI9C:
e
(a) ad 1 (b) o 2
(c) 1923 (Il 2
46. FR GEEFT F wRe R
(a) ol U HIIOHITT i BIGHT TEH TIEHIA o
(b) T HEHITA Tl S GRIERIT 9
(c) ocl W HIEFhifa Sl Sieht Ivh GIERITd o
(d) ST HETERIfa qem S8 HEOhIT S 1 SIgh] It

YRR 9
47. Trerifra o 9 i ggEwita & e a5 fafy = 22
(a) AT W (b) 751 T gfd W feEm

(c) &S X H HH &HA(A) &G T THT
48. T=1 & 9+ gEEhITa @ Faifers @9 o §
(a) HEHR (b) ol
(c) T=d @Al THS= W are
(d) TSTHE IR
49. WNa ¥, fefafad & @b geewifa i FeEta &= s
feeran s TEH % fory STREE @72
(a) SUHRRT TS faam
(b) = JEYA 3TN
(c) Tordra feeran iR faermg wfog
(d) wredta R
50. 9RA H WrE qEEhifa (HE STHRIRE) 1 SThe (STTHH)
#H & fory, Frefeten 9 § ®iH-9 qog gisfer 5 ™
2

. g 2. HW

3. darh 4. T (SRR
ﬁémmmmuﬁﬂmaﬁwgﬁn
(a) 1,2 3R 3 (b) 1,3 3 4
(c) 2,3 3N 4 (1,2 W4

51. 3o god frufRor (ot wiefhn ) qa e @ W e e

(a) MY @ eAferr T g M W ITF SR AT Yol H
T WG A §

(b) wiT 3R g 1 Wik ¥ PR e veet | Ay
i goai =1 STERor e §

(c) U Faeti & fou wsh g™ goo freifa e @

(d) fEAR F1 FRAE ( AF-379) FH AW TGHL, TR
YR W T g g Fifa w2

44. Which of the following statements is not true?
(a) Inflation causes unequal distribution of income
(b) Inflation may have positive impact on level of
employment o
C) Inflation can be controlled by monetary measures ofily
(d) Deflation is more harmful in comparison to inflation
45. With reference to the core inflation which of the following
statements is/are correct?
1. Core inflation is also affected by temporary shocks®<]
2. Core inflation can be measured by removing food and
fuel components from head line inflation .~
Select the correct answer from the codes given below

Codes
(@) 1only _/{5) 2 only
(c) Both1and2 (d) Neither 1 nor 2

46. Core inflation can be defined as
(a) Only from headline inflation excluding fuel inflation
(b) Food inflation and Fuel inflation
(c) Except food inflation from headline inflation

Except food and fuel inflation only headline inflation

47. Which of the following is not the measure of inflation
control?
(a) Control on demand
(b) Control on money supplyr/

Y Decreasing the rate of interest

(d) Rationing of goods

48. Who among the followings benefited most from money
inflation?
(a) Money lenders

Jﬁj Debtors

(c) Saving a/c holders
(d) State pentioners

49. In India, which one of the following is responsible for
maintaining price stability by controlling Inflation?
(a) Department of Consumer Affairs
(b) Expenditure Management Commission
(c) Financial Stability and Development Council

Reserve Bank of India
50. Which of the following goods are included to estimate food

inflation in India? —
1. Wheates

2. Paddy v

3. Tobacco

4.  SugarJ/

Select the correct answer using the code given below

(a 1,2and3
Byt Ea b 4 ( (9."‘ [AW'
(¢) 2,3and4
y 1,2 ang‘y M 'r{]DflL
51. “Surge pricingtakes place when a service provider

‘)3-) raises the price of its product or service as demand out-
strips supply
(b) follows preset prices immune to demand an supply
dynamics
(c) fixes a minimum price for its services
(d) fixes an average price on the basis of transactions carried
over a day
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52.

53.

54.

5S.

56.

57.

58.

e Tk TefeTeEe THIfdeRR <o & ST §, o Treterie

¥ ¥ ®E-9 9o ei?

(a) R TH AR

(b) frafa == wfaantt & s 2

(c) SR & 3 & WNd STUrt|

(d) 9= ora Tnafaa gl

(a) 1 3R 2 (b) 2 3R 3

(c) o 1 3N 3 (1,3 34

et oeg 1 & gfg @ Fan sifuma 22

(a) Had G (FEH) & g 1 Ffg

(b) o T (FEH) & qoa ° e

(c) e a% ® qeda ¥ s

(d) T (FEEH) F 7o free ok g % 709 ¥ 9fs

IRA o qREhifa & T o, fefeied wem | 9 -

& 27

(a) YR H HEEHIa &1 9907 Hael 9Ra WHR H
ERICUR

(b) eI & fremmr & ardig e o # HE i
& 2

(c) ¥ TIM G UREe (Wt HHholvH), HShI &
e o werE W @

(d) 9@ g3 g1 UR=er, REwifa & o o wema
EZoIS

frefefea & @ HFE-91 T, EThia w1 qgfad § o=

el & A 2?2

(a) 78 TRl g1 el o1 SThEA fiRee € & god

(b) e fereen | Fad &+ g Hel 2

(c) T8 a&gell IR Warll & WHH Hied "R OH Had
fimE= 2

(d) e Tt ety & gt #t < H finEe 2|

THifd X H TH Al d@ie gig H1 ST FHefi-Fedt SR

g (base effect) T SRIEN Sl €1 F8 * SR g9’ &0

32

(a) T HYA & TS TH § MM H I 3T A FHI
e ®

(b) T e eMfeish foerra & FROT ISt W 5@ @I A H
e ®

(c) I famma o9 =1 FiEdl 1 THIfG ST HE TOAT W T
e ®

(d) 39 G o I9YH (a), (b) T (c) FeHAl & © g off
wEl e ?

e W fom oA W =g 3R TS 1 SN SAfdiEn

IS HE1 BTUHT q1ed E1 36 qfeh 1 I29A 3Tieden Torehre

? | W Afx 7% fawe g @ se@ feufq s @ e-

(a) TR HepE (b) Teregfierao

(c) TS T (d) HT1 T

Tirfered ok foreieh Wea el 1 =<k edl €72

(a) =1 Toewifa wd sRismm

(b) T THIfA TF IS

(c) TR THIfG Td TG ST

(d) gz faewifa ©d s SRsmRt

52.

53.

54.

5s.

S

56.

57.

58.

&

Which of the following will be the outcome if an economy
is under the inflatonary pressure? “”

1. Domestic currency heads for depreciation. A

2. Exports become less competitive |_~

3. Cost of borrowing decreases. ™

4. _Bondholders get benefitted o€

1 and 2
(b) 2and3
(¢) 1and3 only
(d 1,3and4

Rise in the price of a commodity means
(a) rise in the value of currency only
(b) fall in the value of currency only
(c) rise in the value of commodity only
fall in the value of currency and rise in the value of
commodity
With reference to inflation in India, which of the following
statements is correct?
(a) Controlling the inflation in India is the responsibility
of the Government of India only
(b) The Reserve Bank of India has no role in controlling
the inflatio
Decreased money circulation helps in controlling the
inflation "
Increased rEoney circulation helps in controlling the
inflation
Which one among the following is an appropriate description
of 'deflation' ?
(a) It is a sudden fall in the value of a currency against
other currencies
(b) It is a persistent recession in the economy
It is a persistent fall in the general price level of goods
and services
(d) Itis a fall in the rate of inflation over a period of time
A rapid increase in the rate of inflation is sometimes
attributed to the "base effect". What is "base effect" ?
(a) It is the impact of drastic deficiency in supply due to
failure of crops.
(b) It is the impact of the surge in demand due to rapid
economic growth.
It is the impact of the price levels of previous year on
the calculation of inflation rate.
(d) None of the statements (a), (b) and (c) given above is
correct in this context.
Difference of expenditure and revenue in deficit financing
is covered by printing Additional paper currency. Objective
of this method is economic development. But if it fails, then
the situation arises-
(a) Money deflation
(b) Demonatization
(c) Devaluation of currency
Money inflation
The Philips curve expresses the relationship between-
(a) Money disinflation and unemployment
Money inflation and unemployment
Money inflation and Hidden unemployment
Money disinflation and cyclical unemployment

(d)

(©)
(d)
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59.

60.

61.

62.

63.

64.

65.

66.

67.

qRa | TSR A @ e feae g e s 22
(a) 9T ford o (b) ST ST

(c) T Hamem™ (d) s wfagfa @ fafma o
qRd ¥ TSRS i w1 gew e R

(a) oA IGAH = & AT SUR T

(b) Faa FEwE fow % fow SuR @

(c) ®od AR B gHhM & foIu SUR o

(d) =2 & fou @9 SUR o

referaen &t gfg S ! T q ST ! WIS ==

e < € gea seva e g & 22
(a) Hifswm ifa (b) TS Hifa
(c) Hr@ Hfifd (d) = Hfifg

frefafad o @ SF-91 TF 9Rd § TSR A
TR (3gH=) T 72

(a) IR (b) FreSTa 0T

(c) TEIH® = (d) Gt AR i A
qRA THR 1 TSRS Hifa (Fiscal policy) 1 =1 & 9
HH Th IEIT el B2

(a) Iof TSP

(b) T feeran

(c) STR-TT AMR 1 70

(d) & q A H ArEtEa T

frefafed o @ M TH TS ifq &1 9 2?2

(a) SeurA ifd (b) == Hifa

(c) forcwr fifa (d) = =3
WM = F R w6 1 D 2o
(a) 9T ford o (b) FSET SHET
(c) foa wame™ (d) far s
wWaR # frafafea w@ | faar wifse-

. U A et

2. TSR = FH aEH

3. gfsgst & gar w3

el wt & weed o, Sud<h Sl § 9@ B U/E T

3ET YHS FH 9N WA/ AR ST HRAU 222

(a) ol 1 3R 2 (b) Fae 2

(c) o 1 3R 3 (d 1,2 3R 3

freffea § 4 ®F-w woF foxia Saws &1 g

A Fl 22

(a) I8 TR gR SARA & | fran o geg faw 2
o @iea A it eafd X A enfeEw fawe &
RO TSN EE A B G AT §

(b) T8 TEHR HI Teq Fre=aras wEar 2 foaw e
T onfefw Tfafatae # aeEn 3§

(c) I8 R g fordia Weem W &t TE Teq Friemwl ©
T @ 3% qon Teag & 1 w1 faafa s
? oo ge @@ AR # W fie g% ik
T THIfG W TR A

(d) I8 THR F = Freaarns wHEae 2 foge ae
foria THEeE Aifd w1 SR w5 @

59.

60

Fiscal policy in India is formulated by

(a) the Reserve Bank of India

(b) the Planning Commission

the Finance Ministry

the Securities and Exchange Board of India

(d)

. Golden rule of fiscal policy in India is:

(a) Borrowing only for current expenditure

M7 Borrowing only for public investment

61.

62.

(@) Opasacketproceedings

. Which of'the following is not a goal of fiscal policy of India?

63

64

65

(c) Borrowing only for repayment our debt

(d) Borrowing for bu dget expenditure

Improving the grown performance of the economy and
ensuring social justice to the people are two main objectives
of which policy ? M] QWG

(a) Msetarypolicy a7~ Fical policy

(c¢) Cedit policy (d) Health policy

Which one of the following is not an instrument of fiscal
policy in India?

(a) Tration L™

(b) Public debt «—

; : ~
(c) Public expenditure

(a) Ful employment e«
(b) Price stability .~
«5r Regulation of inter—state trade P
(d) Equiable distribution of wealth and income

~

. Which one of the following is the part of fiscal policy?

(a) Production policy "™\
Taxation policy ==

(¢) Foreignpolicy #

(d) Interestrate policy

. Controlling authority of government expenditure is-

(a) Reserve bank of India
(b) Plannig commission

a_(ey” Finance Ministry
(d) Finance Commission

66. Consider the following actions by the Government:

1. Cutting the tax rates

2.  Increasing the government
3.  Abolishing the subsidies
In the context of economic recession, which of the above
actions can be considered a part of the "fiscal stimulus"

package?
1 and 2 only (b) 2 only
(c) 1 and 3 only (d 1,2and3

67. Which one of the following statements appropriately

describes the "fiscal stimulus" ?

(a) Itisamassive investment by the government in manu-
facturing sector to ensure the supply of good to meet
the demand surge caused by rapid economic growth.
It is an intense affirmative action of the government to
boost economic activity in the country.

(c) It is government's intensive action on financial
institutions to ensure disbursement of loans to
agriculture and allied sectors to promote greater food
production and contain food inflation

(d) Itisan extreme affirmative action by the government to

pursue its policy of financial inclusion. 7—

OPM mMM

L‘KPZM b’m

’g
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68. & e 3TefeAawer THif gamal ¥ TR W 81, @ fAfared
SUE A W HE-E/E HERE WA e/ S SH
=1fgu?

1. YA HIU H GG A1 AMET

2. =N T A A AT

3. WESHE 9 9@l A1 A6 |

= < T 2 1 TN = TR IW g
e

(a) e 1 (b) 2 3 3
(c) ad 2 (d 1 3R 2

69. =i wh % wHg, FrefafEd § ¥ SE-91 %EH SaT
I Heifs F9E el 22
(a) X I U | wdl & - S A Ghg B
(b) TENSIHE IRASHIT R =1 | gig &

(c) I H W H gfg & Tu- =S R T HHl HEAT |
(d) TresiT afESRT | =™ § FH S

70. Trefafea § | wF G/ SO JIAE 5 IS0 22

EREUIEE

AT HT A

HHATTS FR&l 9

FSTaE IR
< < T 2 TN F TR IH A
(a) w1 3R 3
(b) ®ae 1, 2 3R 3
(c) ®ad 1, 3 3N 4
(d) STF ¥ ¥ HE TR

71. SUgE & Hed H 9§ 9 A W T wE g
(a) AT REHAN W&l € @91 R, A1 W&l = §

(b) ATl REA €T ¥, W R, A &l oI T ©
(c) AWEl %, T R 7Temd ©
(d) AT B, W REE ©

72. e % Toxi oaaEe 1 YHfeHeReT WX A YHE Sl €7
(a) U H FHH (b) WSEY H e
(c) H1 S H Sgd  (d) 1 YR H hH

73. A% =gq Ak o9 ogd w9 aEgel w1 de1 # @ €,
RO gErewifa Feen 2
(a) WTHATH (b) @A~ gRERifa
(c) AM-ga gxrehifa (d) SWE | ¥ FiE AL

74, AT H qEERifa #f HEEa #0 & fou f=fatea
W HH W CH G A 2
(a) T SfET ST
(b) & 1 =IAHSE FrEE0r
(c) S = Hifa
(d) SR & F FE TN

75, Frerfafad & @ w6 @ v 9 feufs #1 gwia @ oo
Th pdoTrae W Sed RS, SeE SRS S feer
fefer forerme Tk W19 STwE fohan S =72
(a) STaEmIfd (b) sTaEmifa
(c) TRIHIEH (d) TTateE

b

68. Which of the following measures should be taken when an
economy is going therough inflationary pressures?.~
1. The direct taxes should be increased. =
2. The interest rate should be reduced.gag
3. The public spending should be increased.9&
Select the correct answer using the code given below:
Code:
1 only
(b) 2and3
(¢) 2only
(d land2
69. Which among the following steps is most likely to be taken
at ths time of an economic recession?
b/@}éut in tax rates accompanied by increase in expendi-
ture on public projects "
(b) Increase in expenditure on public projects A~
(c) Increase in tax rates accompanied by reduction of
interest rate T
(d) Reduction of expenditure on public proj ects;L
70. Which of the following is/are the example(s) of Transfer
Payment(s) ?
1.  Unemployment Allowance &~
2. Pament of Salary ¢
3. Social Security Payments Ve
4.  0Old age Pensiona»
Select the correct answer using the code given below:
(a) 1and3 only
(b) 1,2and3 only
1, 3 and 4 only
(d) None of the above
71. Which one of the following is true in above context?
(a) AandR both e and R is correct explanation of A
(b) AandR both e but R is not correct explanation A
(c) AistruebutR is fa
(d) A s false but R is true
72. What is the effect of deficit financing on economy?
(a) Derease in taxes
(b)  Increase in wages
Increase in money supply
(d) Derease in money supply
73. If too much money is chasing too few goods, the resulting
inflation is known as.
(a) Stagflation
(b) _Cost-push inflation
Demand-pull inflation
(d) None of the above
74. Which one of the following is an effective method to control
inflation in the economy.
~A%) Cash reserve ratio
(b) Selective control of credit s
(c) Bank rate policy /A~
(d) None of the above
75. Which among the following terms denotes a situation in
which high inflation, high unemployment and stagnant
economic growth are experienced simultaneously in an
economy?
(a) Reflation
(c) Skewflation

(b) Deflation

A Stagflation
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76, ‘T & w0l % Hay o frAfafaa werl W faem w1
1. = H g e
2. HEEHITA S S g2 ¢ SR A 9 % iE weha e

e
3. SUSR  dEd €
TR fEu T weA § @ A w22
(a) ®aa 1 (b) ot 1 ¥R 2
(c) ®aa 1 3R 3 (d) 1,2 ¥R 3

77. ‘HETERIfa % yoE’ & wed o, frefate § 9 W @A
Fer wEl T 22?2
I HEEHIG OFRRl ¥ SRR R 6 R GHIER0T 2
2. e qEEHITG g Wi § gy ® Geha <t @
= fEu MU e H ITM Fh T IW g
(a) ®ad 1 (b) Faa 2
(c) 1 @R 2 SHi(d) T a1 1 3R 7 & 2
78, frfafaa o @ fom a&g =1 o9 g9 ga&is (WPI) o
Aferhae 9 22
(a) =1 T (b) e 3R farredt
(c) @@ Tt (d) fAfa SR
79. 9 ford o (RBI) <91 &% it qeewifa 1 Frafa
W & fog 1 STA H Tkl B
(a) &1 =1 THET
(b) T WTqRitel T JOTedt 1 IRa™
(c) WS &9 & % H UR
(d) Treeife =19 &t FEkE
80, 3 &% Td W H URedH &l H19H & fou fr=fafed 5 9
e gu® TE F S fRar S R?
(a) SUAHT oI Fahih qEA
(b) SUEA Foehih GEAl
(c) T&N A YohiF HEA
(d) o T gawis Sel
81, GREHIA & s | ®F 9 Tod 2?2
(a) TETERIf 7 fag-sx-fag oMER W awqeti i 2l i
wd B gig &1 G o
(b) 9T H HEEHIA &L T UM &A1 oI Fahi® & T
R W H S e
(c) ®B T=GeA & fau qgrwifa &1 7 & fow gea wa
W o foem R wm @
(d) HETEHITE <X HH T 1 Hels I8 el © Tk HiEd He
@ E
82, UEEHITT 1 TW 3TEIT AU 3@ YRR TRl T 2
(a) & FEd
(b) =3 ¥ afg
(c) %7 uItw o gfs
(d) 9= o7 ®R ¥ gfs
83, frfafa & @ forg gt @ wa@ stfus o9 g 22
(a) TTRR (b) TR
(c) o=a S @l Rk (d) TN deEeE

76. Consider the following statements regarding the traits of
“recession”:
1. General fall in demar& v
2. Inflation remains higher and no signs of going dowrﬁ
3. Unemployment rate grows.
Which of the statements above given is/are correct?

(a) 1only

(b) 1and2only
1 and 3 only

(d 1,2and3

77. With reference to the “effects of inflation”, which of the
following statements is/are NOT correct?
1. Inflation redistributes wealth from creditors to debtors.
2. Rising inflation indicates rising aggregate demand
Select the correct answer using the codes given below:
(@) 1 only
(b) 2 only
(©) oth 1 and 2
Neither 1 nor 2
78. Which one among the following items has maximum weight
in wholesale price index (WPI)?
(a) Raw materials
(b) Fuel and electricity
(c) Food Items
A~ Manufactured products
79. The Reserve Bank of India (RBI) can take the measure of
to control inflation within the country.
s~ Rationing of credit
(b) Introducing a progressive tax system
(c) Improving profits of the public sector
(d) Controlling public expenditure
80. For measuring the changes in the price level of the country,
which among the following index number is used?
Consumer price index number
(b) Production index number
(c) Security price index number
(d) Wholesale price index number
81. Which is incorrect about inflation?
(a) Inflation indicated the rise in the price of basket of com-
modities on a point-to-point basis /™
The inflation rate in India is calculated on the basis of
the wholesale price indexg&y
(c) For some commodities retail prices are also considered
for measurement of inflation %~
(d) Inflation rate going down does not mean prices are
declining o * °
82. Inflation is best described as.
(a) high prices
(b) increase in taxes
(c) increase in purchasing power
oLrtncrease in general price level
83. Who amongst the following benefits most from inflation?
(a) Creditors
Debtors
(c¢) Saving Bank Account Holders
(d) Government Pensioners
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84, TrfefEd & | %A @1 qEEHI & @@ w3 1 T
ekt &l 22
(a) Wi T FrEfm w0
(b) T F1 eufd w1 FrElE ww
(c) &S X FH HL
(d) =1 T R
85, % TN & HHUN od GaTasl iR WeME 9 i 0l
% fau ffafed § 9 o9 907 ga=is 96 &1 ST
foan ST 22
(a) oIk qTT Yo
(b) eireifies el & fou Sy god gueis
(c) T worgy =+ foru Suwiicht gt gerhich
(d) SW® ° ¥ = &l
86, IR & Hey ¥ f=fafed wel | fa=m =X
. 9RA | o o gawi® (WPI) ae Afgs Sem
R I R
2. STENfTR Afeehi & forg SusimnT 9o goshish [Hidter
(TEesg) ] * JA W SsoqUIeTE W aRget whi

%Y TEe <l 2
TR feu T frefafea & 9 $F @ woq T 27
(a) ®ad 1 (b) waa 2
(c) 1 3R 2 i (d) 7 @ 1 3R A € 2

87. TeAfeaa wemi W faem = iR s o %9 g e
22
1. SWR®T sefoHemen i yHIfod & AN HI-EH
Hhe TA I HFdl H STAFEF Jhg F HRUT G Al
2. HHe ® FNU S HU GIYTE H IF B
3. TEH RO HH R dh fawer el T
4. TI-UEH Hhe o HRU ARG IR aR H REE
3TE|
feu T e | W AU I FHI
(a) ®IA 1
(b) e 2 R 4
(c) ®ae 2, 3 3R 4
(d) 1,2,3 3R 4
88, 9N H USIEHITA 1 A TH 1 Fod T SIME B
(a) I YaAFH
(b) & g GoHih
(c) SUHIHT YT YAHIF
(d) ol e 1 T FAFF
89, feAfeiiEd & ¥ A W1 oM SUTHIT 1 STITH AU 7?2
(a) T T 1A ® qo H FFE G & g § TAHE
firmee 2
(b) T& Hefegewen & fodiia @R ot <Hl &Ei |
AR W R
(c) 7 oegatl IR Fee & W god &R R oRTAR
firmee 2
(d) 7Te s e sty § qrewita # W § fnee ©

84. Which one of the following is NOT a method to control
inflation?
(a) Controlling the demand ~
(b) Controlling the supply of money «”

Jgj’Reducing the rate of interestoa,

(d) Rationing of creditar”

85. Which of the following price index number are used for
calculation of Central Government employee wage
compensation and Dearness Allownces?

(a) Wholesale price index
Consumer price index for industrial workers
(c) Consumer price index for agricultural labourers
(d) None of the above
86. With reference to India, consider the following statements.

1. The Wholesale Price Index (WPI) in India is available
on a monthly basis only..~"

2. As compared on Consumers Price Index for Industrial
Workers [CPI(IW)] the WPI gives less weight to food

articles.o_~

Which ofthe following statement given above is/are correct?
(a) Only 1
(b) Only 2

@Both 1 and 2
(d) Neither 1 nor 2

87. Consider the following statements and state which is/are
correct?
1. The sub-prime crisis which hit the U.S. economy was
caused by sudden increase in oil prices

2. The crisis led to default in home loan repaymenﬂ./
3. Itled to failure of some U.S. Banks.nr””
4. Sub-prime crisis caused crash in Indian stock market.\
Choose your answer from the given codes.
(a) Only 1
(b) Only 2 and 4

wnly 2,3 and 4
(d)1,2,3and 4

88. The most common measure of estimating inflation in India

is.
(a) Price Index
(b) Wholesale Price Index

«{eyConsumer Price Index
(d) Price Index of Index Goods

89. Which one of the following statements is an appropriate
description of deflation?

(a) It is a sudden fall in the value of a currency against other
currencies

(b) It is persistent recessiog in both the financial and real
sectors of economy 'k
t is a persistent fall in the general price level of goods
and services

(d) It is a fall in the rate of inflation over a period of tim%
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90, TEEHITG &t G H 0d gfg H FR-FH ' MER g9’ &

o forieR Setan S €1 I ‘SR quE?

(a) 9% wHal & fawad & HROT Y ¥ A9 wH
e ?

(b) =& e anfeler T & %R0 | § gig & 99E @

(c) I HEEHITT T I AT W fras a¥ & g Wl &1
e ?

(d) 5@ Tt ® S feu T i ot ®weE (a), (b) W (c)
&l e ?

i Tl o Yashid Hi A ¥ fefated 9 9 e e

1 affereran R fean s 2?2

(a) T TTed

(b) @ =@

(c) e, Tosielt, w1 3R wew

(d) fafifa e

IRd TR g Afad IR ok god gashis (WPI)

1 YR T 2004-05 ¥ SEe feam @ 7

(a) 2010-11

(b) 2011-12

(c) 2012-13

(d) 2013-14

frafafaa 9 @ fHe 2021 | 2026 Y e7afy & forw wwa

T +/-2 Gfaerd & Feeieral ¥R & e AR Gfaer gRewiia

g fruifa fwan?

(a) 9Rd™ o o

(b) TR TEHR

(c) fifa st

(d) gt fag smEm

ICURH Hed Yahish A

(a) Scurfed et 3R Henetl =t ®iFal ° i g

(b) Scurfed et 3R Fansti i wHiEal § Hgel agera

(c) Scatfea oegel SR Wened i HiHdl W el uiedH

(d) STF & ° FE T

Hifgewr Hifq gfafa (Tadeh) = g<d o, Fefatea wemi

R foar =

1. =& RBI sifufem, 1934 =1 &/ 45 % i o 2

2. HARENSE & TR THN % WeH Aeel B ©

IR fEu U oA ¥ 9 wE wA 91 2?2

(a) ®ad 1

(b) Faa 2

(c) 1 3R 2 g

(d) a1 A2

frefafad § @ S 91 ot 5t 9w A F1 awrers @

7 & 72

(a) %

(b) T2 SR STgIa

(c) Tt AR FaTe

(d) Tfera Ol TR AITSA STTaeashareti sl @R T

91.

92,

93.

94,

95.

96.

90. A rapid increase in the rate of inflation is sometimes attributed
to the ‘base effect’. What ‘base effect’?
(a) It is the impact of drastic deficiency in supply due to
failure of crops
(b) It is the impact of the surge in demand due to rapid
economic growth
(c)~It is the impact of the price levels of previous year on
the calculation of inflation rate
(d) None of the statements (a), (b) and (c) given above is
correct in this content
91. In calculation of index of wholesale prices, which one of the
following sector is assigned maximum weightage?
(a) Food articles
(b) Non-food articles
(c) Fuel, power, light and lubricant
anufactured products
92. The base year for All-India Wholesale Price Index (WPI)

has been changed by the Government of India from 2004-
05 to.

(a) 2010-11
2011-12
(c) 2012-13
(d) 2013-14
93. Which of the following fixed the four percent inflation target

in India with tolerance level of +/—2 percent for the period
2021 to 20267

(a) Reserve Bank of India
P> Government of India
(c) NITI Aayog
(d) Fourteenth Finance Commission
94. Producer Price Index measures.

(a) theaverage change in the prices of produced goods and
services

(b) the marginal change in the prices of produced goods
and services

(c) the total change in the prices of produced goods and
services

4T None of the above
95. With reference to Monetary Policy Committee (MPC),
consider the following statements:
1. It comes under the RBI Act, 1934 section 457 e
2. The Governor of RBI is ex-officio Chairman of the MP
Which of the statements given above is/are correct?
(a) 1 only
(b) 2 only
» Both 1 and 2
(d) Neither 1 nor 2

Which of the following is not a quantitative instrument of
. g ————
monetary policy of the RBI?

(a) Bank Ratear™
(b) Cash Reserve Ratio
(c) Open Market Operations -
\_(ymposing Margin Requirements on Secured Loans

96.
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97. W E T ?
(a) steumEty BUT
(b) eIt FHor
(c) T AR <t ST
(d) STF & | HE T
98, fawamar wemda fifd & <A
(a) F U HeA oyt ®
(b) TR = FH B W @
(c) LT = FHOTS H L 9GSl
(d) STF & | HE T
99. TSERINIT THeHT T e 7
(a) V4 WM FF aa5dl @
(b) & WEHER = FH € W@
(c) & % T F@d ¢
(d) 9 TTHR I F GGl
100. 95w 1 Fafa w0 & o setems sam
(a) §% R 5l
(b) 7 BT W ST TWE T@
(c) 3T =% T Ht T
(d) Toh! e 1 "=

97. Reporateisa
Short term loan
(b) Longterm loan
(c) Bothaandb
(d) None of the above
98. During Expansionary Fiscal policy
Tax rates decrease o~
(b) Government expenditures decreases K
(c) Rate of National Saving Certificate increases o€
(d) None of the above
99. Fiscal Consolidation means
(a) When the government expenditures increases
When the government Expenditure Decreases
(c) When Bank rate increases
(d) When government increases its Debt
100. For controlling inflation, RBI would
‘A Increase bank rate
(b) Increase its expenditure on printing notes
(¢) Increase its staff members
(d) Increase its brances

000
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